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101. Stress strain curve is always a straight
line for
{a)_ Elastic materials
(b}  Materials cbeying Hook's law
{c}  Elasto-plastic materials
(d)  Plastic materials
102. The maximum value of poisson's for an
elastic material is
(@) 0.25 by 0.5
e} ~0.75 @ 1.0
103. The stress at which extension of a material
takes place more quickly as compared to
the increase in load is called
(a) Elastic point
(b)  Plastic point
ic)  Breaking point
(d)  Yielding point
104. For ductile

materials, the
appropriate failure theow g =

(a)
(b)

ropertles is in all directions are
Brittle material

Homogeneous material

(c) §sotr6pic material

Hard material
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An elastic bar of length '

106. [ cross
sectional area A, Young's modulus of
elasticity E and self weight W is having
vertically, it is subjected to load applied
axially at the bottom end. The total
elongation of the bar is given by
(a) WI/AE + PI/AE
(b) WI/2AE + PI/AE
(c) WI/ZAE + PI/2AE
(d) WI/AE + PL/2AE

107. The bending moment diagram is a (:’i'gbic
parabola for a cantilever

_aiilc) | .»Q\ab)eéﬁ@d to uniformly distributed
A&MW&W l@‘@z“ o ,ag’

(%T’W Sub1ected to concentrated load at
the free end

Fora Simpig supported beam with central
load, the bending moment will be '

(a)

Least at the centre

(b) Least at the supports
(c} Maximum at the supports
(d) Maximum at the centre

The B.M on a section is maximum when

shearing force
(a) Ismaximum
(b)  Is minimum
(c) Is equal
(d)

(d

Changes sign
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110.

- (a)

111.

LEZ.

113.

114.

115.

The deflection due to couple M at the
free end of a cantilever of length Lis
ML/EI (b) 2MLJEI

2 2
(¢) ML /Z2EL (d M L/2EI

The shear force on a simply supported
beam is proportional to

(a) Displacement of the neutral axis
(b)  Sum of the forces

(c)  Algebraic sum of traverse forces
(d)  Algebraic sum of axial forces

The shape of the bending moment
diagram over the length of a beam,
having no external load is always.

(a) (b)  Cubical
(c) (d)

The ratio of maximum to average shear

Parabolic

Linear Circular

stress in-a solid circular section is

(@) 1.0 (b) 133

(c) 15 (d)y 1.7

The poisoﬁ's ratio for cork is

(a) zero (b) X

© 02 o Sesn

The sum of the moment of ifﬁ%ﬁiaﬁs about

Always linear

Strain energy in torsion of a shaft per
unit volume is given by considering 'q’
as shear stress, E modulus of elasticity
and G as modulus of rigidity

(@) . q%/2G (b) q*/2E
() q/4G d) q/4E
117.. The maximum shear stress in a thin tube

is

(a) Equal to average shear stress

(b) Twice the average shear siress

(c) Half the average shear stress

(d)  One third average shear stress

118. Macaulay's method is used for
calculation of which quantity

(a)

Bending moment

Shear force

“Fibers do not undergo strain

-
o E
S b & e -
1. -Fibers undergo minimum strain
E & :
i 2°(c) Fibers undergo maximum strain
A
> (d)  Fibers undergo minimum stress

120. The area under stress strain curve

represents
(a) Workdone (b)  Ductility
(c)  Strain energy

(d) - Residual stress.

121. The maximum deflection of a cantilever
beam due to pure bending moment (M)
at its free end is

(a)
(c)

MI%/3EI (b) MI/4EI

MI’/6El M%/2El

(d)
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122. The shape of kern area of a rectangular | 128. For a column of length 'L' having one
section is ' _ ~ end fixed and other end free, the
(a) | Rectangle {b]  Square equlivalent lengthis
{¢) Rhombus - el s
(c) Lz S w4z

(d)  Parallelogram _ _
: 129. The ratic of crippling loads of a column
123. Polar modulus of a section of strength | having both the ends fixed and the column

c ooy
atseciian i whose both the ends are hinged, is

(a) Bending {b)  Shear (@) 10 (b) 2.0
(¢) Torsion {¢; 30 (d} 4.0
(d)  Axial compression 130. The maximum height of a masonry dam

124, Thick cylinders are analysed on the basis of of a triangular section whose base width

is 'b' and specific gravity 's'is_« &
s g

{a]  Maximurm shear stress theory
(bj Lame'stheory

{c)  Poisson's theory "
(d)  Rankine's theory 1L

125, When one end of a fixed beam deilects
by '8' then the bending moment at

deflected end is

2. ﬁfﬁ'i& downwards

e " Stresses equally by vertical and
: B horizontal forces

2Eld

f?fZ The lateral earth pressure on a retaining wall
{a) 'Is equal to mass of the soil
= retained
(b)  Proportional to the depth of the
soil _
(c)  Proportional to the square of the
depth of the soil
(d) Proportional to the internal
friction of the soil
s o 133. Modulus ot rapture of concrete is a
E (a) Column is a short column measure of
k- : e
3 i o i o +
(6} Coliitnn tias bothends Hixed )~ Eleoursl lenstersrengin

)
(b)  Direct tensile strength
{cj Columnisalicng one (
{

(d)  Column both ends hinged

c) Compressive strength

d)  Both flexural & tensile strength

““|(Question Paper-2012)|~~"
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134. The fineness modulus of fine aggregate | 141. In working stress design, the factor of
is in the range of . safety is applied on
(@) © 2.0to 3.5 (b) 3.5t0b5.0 '
(¢) 50to7.0 (d) 7.0t010.0

135. For making a good concrete, aggregate

(@)  Ultimate Stress

(b} Yield stress

should be in " (c) Stress at elastic limit

(é} Saturated condition G Bealingshuss

(b)  Surface dry condition _

e 142. Ina RCC column if ties are not.provided,
(¢)  Bone dry condition -
the column is likely to i

(d)  Semisaturated condition i
136. For reinforced cement concrete the stump (a)  Fail by buckling

should be (b)  Fail by crushing

() Otocb5com

b)) 2.5to7.bem
(¢ 75t010cm
(d 5tol12.5cm

137. The ratio of tensile to compressive
strength of concrete is

@ 0025 - (b 004

(c) Behave like a beam

{d)  Fail by torsion

143.

To design a colum

() 0.1 (d) 04 ,
1
. ily not
138. Design mix concrete is preferred over &
nominal mix concrete because _,@gwm

b
faen

(@)  Strength of former is more = "* (e.i.) Aslab

(b) Cement content of Lt o (b) A cantilever beam
(c) ltiseasy to prepare ‘ﬁgw n -%&tymte . ‘
e (c). A footing
(d) blrengiﬁ}w@f later is Ie§s
e " (d} A beam

139. Which.of ‘ttﬁg&f@gowmg does not cause

uns@méness : 145, The maximum shear stress in a beam of

rectangular section is given by
(a) 1.25 times the average
{b) 1.5 times the average

; : . (c) 1.75 times the avera
. The partial safety factor for steel as per o =

IS 456-2000 is taken as

(@) 1.15 b) 1.25 146. The radius of a bar bend to form a hook,
(c) 1.50 (d) 175 should not be less than

(d) 2.0 times the average

‘{? Question Paper-201 2 ﬂ =
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147.

148.

149,

S7 EA T ERT IS S En T R B o
T T e e DR e s L

(a) Twice the diameter
(b}  Thrice the diameter
(c) Fourtimes the diameter
{d)  Five times the diameter

Increase in fineness modulus of aggregate
indicates

(a)  Fine grading

(b) Coa_rser grading
(c) Gap gradiing
(d)_ Mixed grading

In slab, the minimum reinforcement
provided is (for Fe 250 grade)

(@) 0.10% of its gross sectional area
(b)  0.12% of its gross sectional area
()  0.15% of its gross sectional area
(d)  0.18% of its gross sectional area

The diameter of longitudinal bars of a

column should never be less than
E

(a) 6mm

(c) 10mm

w%“rﬁgy%%ar reinforcement in RCC is

wrovlded to resist
(a}  Vertical shear
(b)  Horizontal shear
(c) Diagonal compression

{d)  Diagonal tension

o [ECET FDHI Civil Engineering (Question Paper-2012)

152. The maximum ratio of span to depth of
a slab simple supparted and spanning
in two direction, is

(@ 25 b) 30
(¢} 35 @) 40

153. If concrete grade is M-20 then what
would be the modular ratio

(a) 7.08 (b) 9.08
) 12 (d) 13.33

154. For stairs spanning horizontally the
minimum waist provided is

155.

“9R + T = 30
'W@:R+2T=w

Invar tape is made of an alloy of
Y SO and steel.

(a) Copper (b) Zinc
(c) Nickel (d)  Bronze

Walking over the area and observing its
main features and boundaries, is known
- 1 SRR survey.

(a)  Topographical
(b) Cadastral
(¢) City

(d) EKeconnaissance
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158. The sum of the exterior angles of a | 164. If atacheometer is fitted with analiatic lens

closed traverse is equal to ............... G Additive: constant is 100,
Right angles, where n is the number of - , .
i multiplying constant is 0
its sides
5 > ; (o)  Additive constant is 0, multiplying
(@) (2n-4) OO constant is 100
e} (4n-2) d) ) (c) Both additive constant and
159. If the whole circle bearing of a line is _muitiplying constant are 100
270 . t.hen its bearing in quadrantal Wl Bothadditve constintmalining |
s constant are 5C }
(al SW bl SAE . 165. One S.1 unit of viscosity is equal to 'Ia
e} 180°W . (d) 180E (a) 10 poises (b) 981 poises '
160. A line which passes through the optical (@) 9.81 Ns/m? (d) :

centre of the objective and also through
' 166.

the intersection of the cross hair, is called

(a)  Line of collimation
(b}  Axis of telescope
(¢) Horizontal axis

(d)  Trunnion axis

MM

161. IfR.L of a B.M is 200.00 m, backﬁg@ht T 16@; A"\?er*lbaf triangular area of altitude h

is 1.525 m and foresight is 3.285 2 ““has one side in the free surface of a
of the forward station, is . ';” a, Gam _N;M liquid. Its vertex is downward. The depth

of its centre of pressure is
(@ 0.8h b) 0.75h
() 0.5h (d) h3

(@) 198460n1 (b) &zoﬁéﬁﬁm

of the ordinates is | 168. The equation of continuity

(a) Iswvalid for inco_mpr’essible fluids

m “Semi circular (b)  Straight (b)  Expresses the relation between

e e 5 Parabolic (d)  Circular mass and are of cross-section
4

163, 1acreis equal to
(@) 43560sq.ft (b) 34560 sqft
(c) 54360sq.ft (d) 64350 sqft

(c) Relates the density variations
along a stream line

{d) Relates the mass rate of flow

along a siream tube

= ‘| (Question Paper-2012) F B e e et
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FFlow of a fluid from low pressure to high
pressure is

(a)

Passible in upward flow thmugh a
uniform vertical line

(b) Possible in flow through a
' converging pipe with horizontal
axis

flow through a
diverging pipe with a horizontal

(c) Possible in

axis
(d)  Impossible if the passage has a
‘constant cross- section

Differential manometers are used for

measuring

fa)  Velocity of fluid at a point

(b)  Pressure of fluid at a point

{c) Discharge of fluid

{d)  Difference of pressure between two

points
The length of staircase between the
fandings is called

(a) rise
(b} tread
(c)  flight
(d)

effective Iength
A V-notch is cor

sof'the nappe

reasonable limit even for large
discharges
Its C, is sm

It keeps the head within a |
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173. An error of 1 mm is committed in the
measurement of head over a rectangular
notch. If the head is 0.3m the percent
error in discharge is

day . 45
(b) 06
(e}, 1.0
(d) 1.5
174. The Hagen-Poiseuille equation gives
(a) Head loss in liminar flow
(b)  Boundary shear stress in lam_i&nar
flow :
(c)
(d)
175. The.l M‘”Mi\

g w

- tuwgufent f"fzfﬁii th?%’uéh a circular pipe

ww >», azeg&em

mmes cube of average velocity;

"‘"“Varles inversely as square of
T average velocity

(c) Varies as square of average
velocity

(d)  Is directly proportional to average
velocity
176. Laminar flow through a pipe, the
velocity distribution curve is
(@) Logarithmic (b) Parabolic
()  Elliptical (d) Hyperbolic
177. For the most economical trapezoidal

section of an open channel

" (a)
(b)

Depth of flow = twice base width

Depth of flow = Hydraulic radius

---:l_‘:Om.'j\'ffon Paper-2012 Ji
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(c)  Sloping side = half the top width

(d)  Sloping side = base width
178.

Inertia force to viscous force

(a)

(b)  Inertia force to elastic force
(c) Inertia force to pressure force
(d) Inertia force to gravity force

179 The critical velocity for a flow of qm®
width of a wide rectangular channel is

given by
o \1/3

@) %—J ) (g
1/3

(©) {f_Q} @  (qg)

180. The function of scroll case of a reaction
turbine is to :

(@)  Guide the water to the runner at
appropriate angle

(b)  Guide the water smoothlyT to; ,thg/'
tailrace @m E

(c)  Distribute the waterfei’zenly a’%u d
the wheel b1 .

(d)  Reduce the eddy anii;f‘s@hw}@iosses

181. The runnef’ﬁi‘@d@s ofa kaplﬁﬁ turbme are

ﬁ“@m &

Less curved than francis blades

" When the speed of a centrifugal pump
is constant

(a)

Shaft power decreases with
“increase of Q

(b) Hm decreases with increase of Q

Froude's number is defined as the ratio of

183.

184.

185.

187.

17

(c} Q increase with increase of H_

(d)

FELETRT

Q is independent of H

The optical square is based on the
principle of optical

(a) " Reflection

(b) Refraction

(¢)  Double reflection
(d)  Double refraction

A reservoir provided at the intake head
wotks from which water enters the
penstock is

(a)

{c) Fore bay

(o)

dL

'> %&;*&’2 b
e "

Power canal

Tail rack
i

S Y

“(c) “Sum of evapo-transpiration and

mflltratiorz losses

Combined use of surface and
ground water resources

The head under which a centrifugal
pump works is called

Piezomeftric head

(b)  Pressure head
(c) Suction head
(d)  Manometric head

The volume of water that can be
extracted by force of gravity from a unit
volume of aquifer material is known as

(a)

Specific capacity -

=:7|(Question Paper-2012) =




(b)  Specific yieid
(c)  Specific retention
(d)  Specific storage
188. One cumec day is equal to
(2a)  8.64 hectare metres
(b)  86.4 hectare metres
(c) 864 hectare metres
(d)  0.864 hectare meters
189. Lacey considered channel section
(a)  Rectangular
(b}  Trapezoidal
(c}  Semi eliiptical
(d}  Elliptical
190. Land is said to be water logged when
{a)  Gravity drainage is ceased
{b)  Permanent wilting point is reached

(c) Slinity of soil increases

(d}  Capillary fringe real,hes root zone

of plants

191. Hydraulic jump occurs wh@n he flow
changes from

e

(a) Super’&j cal i@ mb critical

e

\..a._sﬂu’b: Qnt;;:a:{;go ‘super critical

{(’;} CZ;tgcgﬁ‘”to turbulent

e

§.___,f'auminar to turbulent

%»}mms that contribute to the ground
ww’ waterare called

{a) Effluent streams

e} Ground water stream

= [ECET FDH] Civil Engineering (Question Paper-2012)

{c)  Influent streams
(d). Perennial stream
193. Rational method correlates

(@) Run off coefficient with intensity
of rainfall

{(b)  Run off co efficient with drainage
area

(c) Drainage area with intensity of
rainfall i

(d) Intensity of rainfall with run off |

194. The example of multiple Arch type
buttress dam in India is

(a) Mir-Alam dam

(b) Khadakwasla da w“’:‘_:?' _:
( 2%

c) Iddzkk?é@mﬁs

195. WSurcharges merage of reservoir is the
i ’?ii&&[ume of’water stored between

R 6&%3& Q‘
i

".};fgj Norma | pool level and maximum

pool level

(b)  Maximum pool level & minimum
pool level

(c)  Minimum pool level and normal
poor level

(d)  Normal pool level and revert bed
level

196. Seepage endangers the stability of an
earth dam built on previcus foundation
because of piping which depends on

(a)  Height of dam

(b)  Quantity of seepage flow

h I@_U estion Paper-2012) [ L T I R e
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(¢}  Value of exit gradient fix (c)* Concrete

(d)  Total reservoir storage capacity | (d)  An earth dam

197. Inverted filter for providing foundation | 940 The function of surge tank is to

198.

199.

(@) Aweir

drainage has
' (a)  Avoid flow in reverse direction
(@) Multi layers of soil particles of

same permeability (b)  Smoothen the flow

(E) Multi layers in which permeability _ (c)  Actas areservoir for emergency
increase from top to bottom condition

(c)  Multi layers in which permeability (d)  Relieve the pipe ling_of excessive
increases from bottom to top i pressure transients.

(d)  Only one layer of soil

Gravity dams transfer load to
foundation by

(a)  Arch action
(b)  Cantilever action
(c) Both arch and cantilever action

({d) Cohesion

A chute spill way is generally provided:,
shn il
with

(b) Abarrage

My
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(101) b | (102) b | (103) 4 | (104) a | (105) ¢ | (106) b |(107) a

| L
108) d | (109) d | (110) ¢ | (111) ¢ |(112) ¢ [(113) b |(114) a
(115) a (116) a | (117) (118) ¢ |(119) a | (120) ¢ | (121) d
(122} ¢ (123) ¢ | (124) & | (125) d |{126) & | {127) ¢ |(128) a
(129) d (130) a | (131) a | (132) b |(133) a | (134) a | (135) a
(136) d | (137) ¢ | (138) & | (139) d |(140) a |(141) b |(142) a
(143) %nzm} a | (145 b | (146) a | (147) b | (148) c | (149) d
(1500 b | (151) a | (152) c | (153) & | (i154) < | (155) a [15b;§
(57) 4 | (158 b | (159) a | (160) a | (161} c | (162) b (1»33)‘%% '
b ' d
.C
c
a
<
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